
 MOUNTING INSTRUCTIONS 

DESCRIPTIONID.  PART QTY.

Central engine spoiler

Right exterior lateral

Left interior lateral

Right posterior support

Left exterior lateral

Right interior lateral

Right lower support

Left posterior support

Left front support

Right front support

Left lower support

1

1

1

1

1

1

1

1

1

1

1

3

4

7

5

2

8

10

9

6

11

Allen M5x16 ISO 7380 Screw

Bush with fl ange

Lock nut M6

Allen M6x20 ISO 7380 Screw

Silentblock

Nylon washer M5x0,5

M5 Silentblock

Vinyl stickers set

Carbon Sticker

10

10

10
10

1

6
6

6

1

1

15

14

12

13

16
17

18

19

20
M5 ISO 7380 Screw cap 621

Ref.: 7573 C
(carbon look)

Ref.: 7573 J
(black colour)

ENGINE SPOILER FOR 

KTM 1290 SUPERDUKE

Pg. 1/4



MOUNTING INSTRUCTIONS 

 ENGINE SPOILER FOR 

KTM 1290 SUPERDUKE

1

Pg. 2/4

32

11

9

12

12

12

12

10

12

Left lateral Right lateral

Left lateral

Original screws

Original screws

Original Screws
for support nº 9

Original Screws
for support nº 11

Original Screws
for support nº 12

14
4

14

14

15

15

15

13

6

12

12

13

13 12

8

12

12

7

18



MOUNTING INSTRUCTIONS 

 ENGINE SPOILER FOR 

KTM 1290 SUPERDUKE

76

4

Pg. 3/4

5
Right lateral

Left lateral

Right lateral

Left lateral

13 13

13

2

15
14

15 15
14 14

18

14

14

15

16
5

16

16

15

13

17

17

17

13

14

14

15

15

13

13

18

18

18

18

1

1

21

21

21



MOUNTING INSTRUCTIONS 

 ENGINE SPOILER FOR 

KTM 1290 SUPERDUKE

8

Pg. 4/4

16
20

17

3
16

16 17

17

Vinyl stickers set19

21

21

21

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html



